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8. The signal check of ISC
1. Troubles

1. Malfunction of ISC valve

(o-IICLI N ine break of ISC valve wiring
LEELCID 2 mage of ISC valve coil
Damage of TR which operate ISC valve in ECU

Counter

— Inspect connector of ISC valve. If it is normal, connect new wiring.

Replace ISC valve.
Replace ECU.
(In case of HMC MELCO system, it is sometimes happened)

Engine

state Engine is hard to start. Even if start is possible, it is stalled soon. RPM may stay 1200 ~

1500[1/min] in case of BOSCH ISC equipped vehicle. The problem can be found out
through scanner because ECU detect this error.

Signal
measurem CH1=10v @ CHZ=10¥ z : : © o 200ms Al
ent DG o101 DG 10:1 i : : ¥ (z00ms /div)
 Measured at Prange on A/T vehicle inthe status ¢ NORMSKS/s.
of no-load idle after warming up A :
l:lv ...... E L, ;
ﬂf;ﬂfmfﬂ Case Abnormal {ase(short tg wire)
N e — ' ' f - : :
ISC valve: measuring between A terminal(FCU PIN 35) : :
and ground Zhnm‘mﬂl case

b bbb o s o s e b et b - (ShoTE to ground)

:II[:I

ISC valve: measuring between B terminal{[FCU PIN 9)
and ground : : ; i :
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2. Malfunction of ISC opening valve (Not opened)

Cause of
trouble

Counter
action

Engine
state
Signal

measurem
ent

Line break of ISC valve wiring
Damage of ISC valve coil
Damage of TR which operate ISC valve in ECU

Inspect connector of ISC valve. If it is normal, connect new wiring.
Replace ISC valve
Replace ECU.

(In case of HMC MELCO system, it is sometimes happened)

Engine is hard to start. Even if start is possible, it is stalled soon.

CHI=10¥ CHZ=10V | B : ; T Z0onm7div
DG 101 DG 101 1 : : }Muw]
. Measured at P range on A/T vehicle inthe status = ¢ NORMSKS/S
of no-load idle after warming up S :

e e R

+ Mormal case

Ahnﬁrmal :a;:.sz-t.-, 1:1rt{ wire)

ISC valve: measuring between A terminal(FCU PIN 35) : :
and ground . Abnormal case -

et e b ol s b ot e et (SHOTE 10 ground)

:I : [:I e
ISC valye: measuring between B terminal{FCU PIN 9)
and ground : i i 3

Reference : Opening coil is open circuit or closing coil is short to ground
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3. Malfunction of ISC opening valve (Always opening)

Cause of Short to ground of ISC valve wiring
trouble Damage of ISC valve coil
Damage of TR which operate ISC valve in ECU

Counter
action

Inspect connector of ISC valve. If it is normal, connect new wiring.
Replace ISC valve
Replace ECU.

(In case of HMC MELCO system, it is sometimes happened)

Eggt];ne It is not recovered to target idle RPM and stay around 2800 RPM.
Signal
measurem CH1=10V :  CHz=10V = : ; D 20005 dlv
ent [1o= | B DC o101 i : : X;f (z00ms Fdiv)
. Measured at P range on A/T vehicle inthestatus /' NORMSKS/S
of no-load idle after warming up w4 :

P | e i an i

+ Mormal case

Ahnﬁrmal :i;l;:ﬁ'fl:.‘j- 1nu-t{ wire)

0 i ; : ] : L ; ;
1SC valve: measuring between A terminal(FOCU PIN 35) : :
and ground " Abnormal case -

ettt el s s s b o st ot oot (ShOTE 10 ground)

:II[:I —

ISC valve: measuring between B terminal{ECU PIN 9)
and ground : : i i 3

Reference : Opening coil is open circuit or closing coil is short to ground
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4. Stick of ISC valve

(o ILI-WMCarbon accumulation in air path of ISC valve

of Big resistance on moving of ISC valve pintle. (Head of air path line)
trouble

Clean ISC valve line with compression air.
< Reference >

Even though ISC valve is stuck, it is difficult to find out stick by signal because ISC
stuck signal don’t have difference with normal. Therefore it should be inspected by the
naked eye after disassembling. If ISC valve is contaminated by accumulation of
carbon or other things, it must be cleaned. If it is not cleaned by compression air, it
should be dried after cleaning with oil (light or volatile oil...).

Grease on operating point. Nevertheless, if it is not run smoothly, replace ISC valve.

Engine stall is occurred or engine operating state don’t recover idle as remaining with
high engine speed. The phenomenon is repeated.

Engin
e <Difficulty to find with signal>

state In this case, ECU open and close ISC valve too much. Therefore check with scanner
whether normal idle RPM(No load : 24~32%) is stayed or not.

Signal

measur

e ment

5. Step loss of ISC valve

Cause of

trouble 5.1 ISC valve step doesn’t operate by ECU control.

5.1 Restart after reset battery(Separate minus(-) terminal for 30 [sec]). And Maintain
Idle engine state during 10 minutes.

(1) In case of automatic transmission, shift with N <G> D <&> N—R sequence in idleg
Counter state and shift again after 5 [sec].
action (2) In case of manual transmission, work acceleration pedal.

< Reference >
This is to erase adaptation value in ECU and to newly adapt it step by step with
automatic transmission.

Engine Engine stall is occurred or engine operating state don’t recover idle as remaining with
state high engine speed. The phenomena is repeated.

Signal <Difficulty to find with signal>
measure In this case, ECU open and close ISC valve too much. Therefore check with scanner
ment whether normal idle RPM(No load : 24~32%) is stayed or not.
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2. Field example

< Example 1 > ISC valve stuck

Vehicle : Most of KIA vehicles(Duty control type, ISC valve quipped vehicle), Odometer : 20,000Km
Problem description : Engine operating state doesn’t recover into idle with floating and RPM cycling
is occurred. In some case, RPM is severely dropped or engine stall is happened with electric load.
Cause : ISC valve is stuck because pintle is not moved by carbon accumulation. It led to impossible ISC
correction.

Signal measurement : Basically it is not different with normal signal. Even if it has difference, that is
rare and it is not helpful to analyze.

Explanation : In this case, ECU adapt too much(100+40%). Thus, first you should check adaptation
value of ISC. For more detail, refer to 7.1 Duty ISC valve.

Enlargement of application : With duty control ISC valve, if the severe engine vibration is occurred
(Big RPM variation) and RPM floating or engine stall is intermittently happened in idle, you should check

ISC valve stuck. Notice to customer that this problem is reoccurred after healing.

< Example 2 > ISC valve step loss

Vehicle : Most of DAEWOO vehicles(Step type ISC valve equipped vehicle), Odometer : Don’t care
Problem description : Engine operating state doesn’t recover into idle with floating and RPM cycling
is occurred. In some case, RPM is severely dropped or engine stall is happened with electric load.
Cause : ISC valve step is not synchronized with ECU control. It led to impossible ISC correction.
Explanation : In this case, ECU adapt too much(100+40%). Thus, first you should check adaptation
value of ISC. For more detail, refer to 7.1 Duty ISC valve.

Enlargement of application : With step type ISC valve equipped vehicle, if the severe engine
vibration is occurred (Big RPM variation) and RPM floating or engine stall is intermittently happened in

idle, you should check ISC valve stuck. Notice to customer that this problem is reoccurred after healing.
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< Example 3 > The problem by too much adaptation
Vehicle : MAP sensor equipped vehicle(Most vehicle of SIEMENS EMS system), Odometer: 6,000Km
Problem description : Engine operating state doesn’t recover into idle with floating and RPM cycling
is occurred. In some case, RPM is severely dropped or engine stall is happened with electric load.
Cause : ISC basic opening duty is too big or small by abnormal adaptation value. It results in abnormal
total ISC correction. It makes above described problem.
Signal measurement : The signal is normal.
Explanation : In this case, ECU adapt too much(100+40%). Thus, first you should check adaptation
value of ISC. For more detail, refer to 7.1 Duty ISC valve.
< Reference >
The MAP sensor system operates engine without problem even though mass air flow is come from
besides ISC valve. Therefore ISC valve decreased in proportion to additional air flow and ECU

adapt as reduced ISC quantity.

Fngine RPEM  —.
[ e T o L W =

ISCvalve open level -' e e Ot .

: : i
: _I.I__Tlirm opgen

Goal of 1_Term

—l

Total 15Cvalve open level]

.

Leaming level

Eirfisre frilbuck:B PRI is rn,-,-F. r lordhacksl Term! | earming starsHI'M

T Torms o crarheng goal ramge:
tham standard due bs Large in e ackion hernmes stable, e o

I g doasn 1 cha md wla b
ngern fined learning is larding i bl B ke

o b i 1 T erm

Enine KM E
it e A

~  RIM rises with increasing of [5 opening level

I Coal of l_'l'e.rm {!p?l.1-|ltg
I_Term opening level

Y
r‘_l_,_T.ﬁrmng kevel(+)

& U
Basic apening level Total ISC opening level :

|15 opening level

W T T W T T T T W T[T W W T T W T W

T & L ¥ E - -
& : I_Termy is reaching to car ange:
Feedback:]_Term | skarts (RPM = & i
Before feedback:RFM o nen - Tr:llE -ﬂ.:h:v, Learning level dovsn change and stalsle

is lower than stamidand

Learning i= slartin
A B semall ogening lival ming ¥ g

dueto largel |_Termn

Enlargement of application : With duty control ISC valve, if the severe engine vibration is occurred
(Big RPM variation) and RPM floating or engine stall is intermittently happened in idle, you should check

ISC valve stuck. Notice to customer that this problem is reoccurred after healing.
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3. Location of ISC valve

Lw‘" o
i

Ignitien Coll

Sesend
Alr F‘l.lmn:.'I

Senser

Fuel Pump

< ISC Valve : Duty type(left, right) and Step type(center) >
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N MmeNvn

4. Check method

Explain the checking Method and Diagnosis of trouble..

1. Oscilloscope.
2. Wiring diagram of ISC valve.

< Reference>
It prefers not to use Multimeter because it is difficult for the Multimeter to display the fast signal
changing.

1. Find and connect the signal and ground line with referencing the wiring diagram.

2. After measuring the signal, compare the measured signal with Normal signal.
(1) As there is several power lines according to ISC valve type, Measure the signal at the same
time.
(2) Let’s reference that ISC valve power line is shorted by ECU though source of electricity is from
Battery.
(3) I1SC Valve operation reiterates ON/OFF. If there is one power line, valve Opening (%) is the
value when the source of electricity is ‘0’ voltage. If in case of Open /close type, valve opening is
the value when the source of electricity of open side is ‘0’voltage.
(4) In case of step motor type, Check with normal operation value because there is difference of
ON from OFF in opening value.

3.1t prefers to check the following signals at the same time to check the normal operating state of ISC

valve exactly.

Check method

-

Jmeasuring probe (+)/ GNI teminal (=)
Jmeasuring probe (+)/ GND lerminal{-)
2.5tep way:coilimeasuring probe (pin-A}/GND terminal (pin-B)
measuring probe (pin-C)/GND terminal {pin-1)

30 operating way wooil kmeasuring probe (+) /) GND terminal (-)
N ' e

e — -
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5. Wave analysis
Duty type
Output voltage when ISC(idle Speed Control) is moving is as shown below

Supply voltage to opening coil

— 44— QOFF
Ton
.
-4 L.
44— ON
Supply voltage to closing coil
Toff
——
T
i "n_

valve opening [96] = 100+ Ton 7/ T
T : Period of one cycle (if100Hz : 10 msec =1/ 100 sec )

Ton : Power on time for opening coil ( =T - Toff )
Toff : Power on time for closing coil (=T - Ton )

Air flow [ m*/h ]

18—
E5.... Test conditiem i i i i i ; i J ______
EESET; D135 & 0.1V H:rnal flnu rate nlf ISCE

55| fosqiency £ 100 £ 1 Hz iR e
eobomee TEN=357C SN, T 2

4 5. Brozehoic: 1013 + 20 hPa et N
______ Gessive  cspxvonee | i MR

p—— Coil temp.: 20 - 70 *C ot ; £l

Coil resistance

Open =ide : 17.6 + LG @

.............

5.0 15 25 35 45 55 §5 75 85 Openina[ %]

Finally engine speed shows quantity of air flow through ISC valve. Usually, 30 ~ 50 rpm increase of

engine speed by 0.39% ISC valve opening.
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Adr-flow rate
Or Engine speed
3500 - 4500 rpm
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Conditon :
Constant i gnition time
it b D2 Feedbe

Mormal 30-50rpm/0.39%

BOSCHIZC mlve
opens for constant
atm ot by safe mode
when line oper.

\ App rox.

1500 rpm

When surface covered by
Carbons the flow gets
irregular

| ISC op ening

1
g8 - 20 %%

1
IhH - b %%

Opening [%6] = 100 »Ton/T

12 Volt

-

0 VYoh

:a Ton - OMN
T One Period

CHI=10V
AC 10:1

CHZ=10V
DC 10:1

--1SC control daring idle
:34%

open
34% OM

100 Hz { 10 msec )

Ems S div
2 (Bmsydiv)
ORM:Z00KS /s

< Reference>

It is very difficult to find out the malfunction of ISC valve by observing ISC valve signal.

Therefore check as followings :

(1) Check deposit in the ISC valve inside such as carbon.
(2) Too much adapted minus adaptation value of ISC valve.
Counter measure :

(1) Fixing of vavle: Check with naked eyes, if there is carbon, clean it.

(2) Adaptation value: Check amount of minus value by scanner. If minus value is too big, delete

adaptation value and do adaptation again in idle for 10 minutes until engine get
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Step type
Finally engine speed shows quantity of air flow through ISC valve. Usually, 30 ~ 50 rpm increase of
engine speed by 0.39% ISC valve opening..
Al Tose st Condition :

Or Engine speed
3500 - 4500 rpm

Mormal 30-50rpm/0.39%

BOSCHIEC walve
openis for constant
arn ot by safe mode
when line oper.

\\ Approx.

5 When surface covered by

=4+ 1500 rpm Carbons the flow gets
j irregular
| ISC opening
T
75 - 85 %

8- 20 %

Opening [%6] = 100 +Ton/T
12 Volit

U | | 0 Vaolt
ON

. Ton :
T : One Period

CHI=10V . CHZ=10V | H : : . _200ms fdiv

DC 10:1 DC 101 i f g
Condition : Idle / No load / Gear in P with AT vehicle: 7 : NORMISKS /s

e i r - -

0 2 S ......... 2 el ........ I G R e P

0.0 e H ; RrEEY - JoR
ISC valve : Signal between B module{(ECU PIN 9) and GHD

< Reference>
It is very difficult to find out the malfunction of ISC valve by observing ISC valve signal.
Therefore check as followings :
(1) Check deposit in the ISC valve inside such as carbon.
(2) Too much adapted minus adaptation value of ISC valve.
Counter measure : (1) Fixing of vavle: Check with naked eyes, if there is carbon, clean it.
(2) Adaptation value: Check amount of minus value by scanner. If minus value

is too big, delete adaptation value and do adaptation again in idle for 10

minutes until engine get warmed up.
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DC motor type
Finally engine speed shows quantity of air flow through ISC valve. Usually, 30 ~ 50 rpm increase of
engine speed by 0.39% ISC valve opening.
Adr-flow rate

Or Engine speed Comdaibar

 onstant i it on time
3500 - 4500 rpm ie ction by 02 feedbs:

Mormal 30-50rpm//0.39%

BOZBCH ISC walve
opens for constant
atn ot by safe mode
when line open.

\ ADpp rox. When surface covered by
&+ 1500 rpm Carbons the flow gets
j irregular
| ISC opening
T
8- 20 % 75 - B5 %%

Opening [%6]1 = 100 = TonsT
" " . 12 Yolt
| L U 0 VYolit
- ::\ Ton ! ON

T : One Period

CHI=10V :  CHZ=10¥ ; : T 2s/div
DG 101 DG 101 : : (28 Adiv)
: : : “NORKMSE00S /s

-

Between Pin #1 and Supply

......... ) [ [T IO U S

L

Measure location

ar

< Reference>
It is very difficult to find out the malfunction of ISC valve by observing ISC valve signal.
Therefore check as followings :
(1) Check deposit in the ISC valve inside such as carbon.
(2) Too much adapted minus adaptation value of ISC valve.
Counter measure : (1) Fixing of vavle: Check with naked eyes, if there is carbon, clean it.
(2) Adaptation value: Check amount of minus value by scanner. If minus value is too big, delete

adaptation value and do adaptation again in idle for 10 minutes until engine get warmed up.
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6. General
DC motor type

ISC Valve opens and closes the valve through the DC motor. The pintle of ISC valve is connected with
DC motor and moved up and down through the spiral. If positive current is engaged DC motor come to
move positive direction (ISC opening), otherwise negative direction. Though the method of power supply
is same as duty type, but the frequency (below 20Hz) is far less than that of duty type (about 100Hz) and
pintle position distinguishing sensor is jointed.

Long opening time Short op ening time
b Opening coil supply
o 1T
OFF

Closing codl supply

Opening cn:xillsupply

Closing coil supply

R

ECU ECT Pin: Li44
g Cipetdns wark
HCOPin: Ta3
Closing work

— P coil1 (—)
-—
AL B
e ;
e I15C position sensor
BEEIS P Coilz (+)
= = Coil 2 {(—)

gl

< Circuit of DC motor type ISC valve >
< Reference >
Operation method is similar to that of step type valve but this one is operated without step and equipped

with position sensor and pintle position can be detected.
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Duty type
ISC Valve opens and closes the valve through the electro-magnetic force of two coils. One makes
open and the other close at the same time when the current flows. Generally it makes connect and break
the current flow in high frequency (about 100Hz: 100 times per 1sec).
It is the opening quantity for ISC valve that the ratio of time (=100 + time of current to open ISC valve /
one cycle period [%]) for flowing the current on the coils making open during one cycle. ISC valve pintle

is in appropriate location as repeating of open and close shortly with flowing the current.
Long opening time Short op ening time

O ER ALY oy Dpening coil supply

OFF ) |
Closing coi supply Closing coid supply
________ ECU —  TEeDFEa M 180 valve |
Ig Chpehing work
ECT TR AT

{ ECU pin

1 |nn 1

= Vb=12V
_ Ground Dty "l.'uuh_ml 1

< Reference >

There is the ISC valve type that uses only one coil to open and close the valve ( one is for plus(+) and

the other is for ground(-).
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Step type
The upper part of pintle is composed of magnet, and ISC valve is opened and closed by this pintle. This
part is surrounded by three magnets. So, if the direction of current is changed the positive pole or the
negative pole is arisen, and in case of same pole between a magnet and the magnet part of pintle
repulsive fore is arisen, otherwise attractive force is arisen, thus pintle is rotated 1/6 revolution. On the

basis of this principle, this pintle moves up and down with rotating and ISC opening quantity is controlled.

Opening

Polarity change
by ECU control

Upper side of
valuve pindle

Indicates the

Opening signal

change of

& the Eularim

i)

Change polarity to
spin into opening
;and than change
polarity by every
periods

Rise by =pin of pindle

(SCvalve CLCU

y BCL pin
j > Low

# High

-
M
|,rw-w'\_l —

f » |low

< Reference>
The control method is simular to that of DC motor, but the difference is that this pintle is rotated 1/6

revolution by step.
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7. Principle (Algorithm) Introduction

I'd like to introduce three big trouble which are too difficult to fix it and understanding it.

At least it is need to know why it is difficult when you can not fix it completely. And if you find out
similar problem in the filed, do not spend much money or time but let you customer know that the

problem can be happened again..

Important problem : Abnormal operation of ISC valve

This is the phenomenon that occurred when ISC valve pintle is stuck.

Duty type ISC valve
This valve used by all three carmaker, yet KIA use it more.
The pintle is open with ISC valve ON and pintle is close with ISC valve OFF. If we continue this
ON/OFF then pintle is located at certain position. If ON time is longer than OFF time then pintle is
located in the more opening position or if OFF time is longer than ON time then pintle is located in the
more closing position. Using this principle, ISC valve opening is controlled by ON time rate.
The ON/OFF time per 1sec of ISC valve is normally 100 Hz. And this frequency is decided to get
smaller ISC noise.
There is a case that the pintle is not moving due to the carbon inside the ISC valve. We call it “stick”

and following trouble is happened.

(1) Stick with high opening:

Fngine RPM —

ISCvalve open level ! e e e e PP e - - -

: [
II Term open

Goal of 1_Term

‘Total 15Cvalve open leveli

i

Basic aopen

O ravuink level
searming leve
v ]

Fl

Eirfure frelbark: PR 1= haghdr Terdhackal Terml Lrarming stareHIhE
tham stanidard due s Barge s rdmakion fresmomesy stable,
e limeel bearming i Larding
dur ko sl 1 T erm

I Tewa o= rracheng goal rasgs:
brarning dovsn® chamge and =Lakie

During this trouble, engine speed can not return to idle speed and oscillate with high speed ( about 1000-
1700rpm). In this time, if we push throttle pedal, it can return to normal, but it is very seldom.  And if
it return to idle speed before adaptation start then there is no problem but if adaptation is occurred

during this trouble then it is the reason (minus adaptation) of engine stalling or unstable..
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Necessary quantity Adr to Idle of ngine

-
ISC opening level  Nocessary quantiry of air to idle of engine
\___\ ; -.._.'
F - FA Necessary ISCV opening level to idle of engine
o
i E‘.\f __ - ISCV opening level by I_Term
h’%ﬁn i :
G i — ] : :
. P, | e e e
: | e 5 3
i ISCVhasic openfng leve -
— : e |
! Quanty of Air-supply by leakage :Air
¥y x ¥ » ¥ v

Coolant Temp
- ISC valve adaptation is learned by “I_Term” and |_Term is feedback control value that increase when
engine speed is lower than target and decrease in reverse case. If this value is small then minus
adaptation is occurred and plus adaptation with high |_Term.
Therefore, if ISC valve is stuck with high opening then feedback control has not effect and engine speed
can not return to target speed. Then ECU recognize too much basic opening is applied and learn minus
adaptation.

Then finally ISC valve opening value by ECU is (basic opening + adaptation) +|_Term opening. In this
time, adaptation is minus and |_Term is very small due to high engine speed. Then let’s think about the
case of when trouble is disappeared. In that case, ISC valve is opened only by ECU and calculation
value (basic opening + adaptation) +|_Term opening is too mall to keep engine speed.

Engine stalling or oscillation will be happened until it learns normal one even with restart, because of
remained adaptation value.

The only method for this is to delete adaptation value and learn normal adaptation. And remember it
can occur again.

(2) ISC valve closing stick.

RI'M rises with increasing of 5 opening level
I Ceoal of 1_Term opening

I8C apeniing level I_Term opening level

Learning kevel(+)

1
Ihﬂrupeninglwel Tatal 152 opening level |

----- T W T W W W T[N W W ¥ W T T
I_Tems is reaching 1o car range:
Learming level davsn™ change and stalsle

¥ & ¥ r
Befire foedback:RPp [oodpacksl_Tems . Leaming starts (RPM
ine e becimes stalble,
Learmiing i= startiing
dueto lamgel |_Term

i8 lower thaa stailaind
s B semall Dprening lawsl
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In this case, ECU increase |_term to open more ISC valve. Yet engine can stall or oscillate due to close
stuck valve. If stick problem disappeared like above “(1)”, engine oscillation or stalling is disappeared.
But if stick is continued for long time then ECU increase |_Term and then plus adaptation is occurred .
Then ISC valve opening is (basic opening + adaptation) +_Term opening and total opening is big due to

big plus adaptation.

If stick trouble is disappeared then engine speed is high and not returns to idle due to too much opening

of ISC valve. We call it RPM floating and it happen more with siemens system

(3) In case of that problem occur again

I've seen many case that above “(1), (2)” is solved by exchanging the ECU. But most of case is not
the problem of ECU but adaptation is deleted while they change the ECU. And more problem is that
this problem can be happened only with ECU change.

(4) Countermeasure from carmaker
In fact, fundamental countermeasure is impossible. However, they've changed ISC valve pintle type
form one coil to two coils to get strong movement of pintle and make dull the tip of pintle. But best

solution is to prevent incoming of oil or carbon into ISC valve and this needs engine design change.

Step type ISC valve.

This is the type that applied to most of DAEWOO car. There is a magnet at the same axis of pintle on
the top of ISC. And there are three electromagnets around the magnet that changes the N pole and
the S pole by direction of current to push or pull the magnet on the top of pintle. While magnet on top of
pintle is revolving, pintle is rising (open) and falling (close), so that air flow is controlled.

When magnet moves one step by the electromagnet, this step is same meaning of “ON rate of duty type”
ECU to change the N pole and the S pole by changing the direction of power to electromagnet to open or
close ISC valve until certain step that ECU want.

Then, what will be happened that if pintle is not moving when electromagnetic power is balanced
between N pole and S pole?

Step type ISC valve use a word “step loss” instead of “stick” that used in duty type. Because difference

between real step and memorized step of ECU exists.

(1) Step loss with high opening.

This case is happened frequently and it is happened when ISC valve is fixed against step value ordered
by ECU. The troubles that occurred in this time are same as “(1) Stick with high opening”. High
engine speed is not return to idle during step loss and engine stalls by minus adaptation after step loss is

disappeared.
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(2) Step loss with almost closing.
This is also same as “(2) ISC valve closing stick”. Engine oscillation or stalling is happened during
step loss and plus adaptation is performed when step loss is continued for long time. If step loss is

disappeared then engine speed is high and not returns to idle due to too much opening of ISC valve.

(3) In case of that problem occur again

Many people asked me how to fix the step loss problem and what the reason is?  They changed ISC
valve, ignition and spark plug to solve the problem, but the problem was happened again.

In fact no solution exist. Because, nobody can say there is no more step loss problem after
replacement of the ISC valve.

Even GM has suffered step loss problem. So, it is better to explain to you customer that frequency of

this problem would be reduced by changing ISC valve but problem can be happened again anyway.

(4) Countermeasure form carmaker
It is same as duty type ISC valve that there is no fundamental solution. But they close ISC valve to set
the step again at every engine stop. So, step loss problem is disappeared when engine stops but the

problem is still remained until engine stop.

DC motor type ISC valve
Hyundai motors use this type more. The pintle is revolved by DC power like a motor and it is moving up
and down to control airflow like step type ISC valve.
The difference from step type is to rotate the pintle without step until certain required value. So, ISC
valve position sensor is used to detect pintle position for this type. But recently it is used without sensor
due to cost reduction.

As DC motor type has enough power to rotate the pintle, pintle stick problem can be hardly happened.
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